Algebra 1: Unit 8, lesson 1 Notes: Solving Systems of Equations by Graphing

Name:
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Write a rule to represent each rider. What does the slope
and y-intercept represent:
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Who is your predicted winner: Create and label axes; include units.
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List the information you know about the race and riders
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Algebra 1: Unit 8, lesson 1 Notes: Solving Systems of Equations by Graphing

Name:

Wars

Punky Brewster:

Bald Biker:

Howard:

Who Wins the Race:

At what distance would the given rider be the
winner (he/she is in the lead).

When are they even:
At what distance would the given rider be at the
same point as another rider.

Punky Brewster and Bald Biker:

Punky Brewster and Howard:

Bald Biker and Howard:

Punky Brewster and Bald Biker
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Punky Brewster and Howard

(b.5,23)

? EXTIYMATE

Since all lines didn’t meet there is a solution to this system of 3 equations with 2 variables.
But lines did meet so there a solution to this system when just looking at 2 equations with 2
variables

Bald Biker and Howard
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Algebra 1: Unit 8, lesson 1 Notes: Solving Systems of Equations by Graphing

Name:
hese 3 systems above are examples of a

system and an

system.
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Independent system
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In Trike Wars we had lines that
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Ticket out the Door

In Trike Wars find a length the race would need to be for the Rider you picked to be the winner.




